Bs@0sabmbitogm Fo®s Bsogdsogsdo 11 3eabo 21.05.24 ¢

L. g9 y = V6x + 4 fokob Bbgdob gsbdmamgds, Gmdgeog ¥ = 0,75x — 17 Gheol
35M5ENUEOS.
2. 03mggom 'c'j]gla(pggo B96J300lL BOHEsMB-3emgdsmBOol dmsgo f(x) = —x3 - Inx.
3. oambbgﬁo@‘ QOMEmds: f'(x)>g '(x), Lswsg f(x)=3x3+x+V3 o g(x)=7x2-4x-1g12

3 3
4. 03mz90 & 356589HM0l yzgas ols 3608369ammds, Gm8rolbmgobsg y= §x3 + ;xz o E[x + 5d

8969305 BOI©os x-0l Bgdobdogmo 9608369 mdobiogal.

5. 03m390 MOEILO BsGHMBOLs 9jmbg sBonzmobgcols BIONMO0, Hadgmog Bobsbmamos
R=4v/3 18-0l Macosgliol 3gmbyg F&9Fomd0.

6. 3mBliols a39GEomo BI30MH0L BoBHMBo MO0l 10 b82-b, dolio dodom doegdrymo
BIIHMOOL 3Mebg 36%-0s. 03m390 3mbrbols brymo Bgs30M0l BsHRMBO.

7. 056 3mmbs bs83mbyEo, GMBols 320090005 5 b 12 18, dMvyBagls 32939 wgmdols
35M899m, Gmdgmog oo 3009HOU BoMOIEmEH0s O3 ©8MEYdrIos Boligsh 3 Ld-om.
030390 36116300 Bomgdwmo bbgemamols Bgwsdnmols ROHNHMBO.

8. figlogmo mombzmmbs 3065800l Brdol g39Mmwos a, boene F396mlonsb 8ndatn

0MGYImo 3mmby 3o a . 03m390 58 30Ms80s80 BobsBriemo bggmml Bgwsdomols BONMBO,
14

=1t a8
Mg WS T 92_‘5'



